
MONOSEMUSA.COM

Krieckhaus Adam J
Text Box
 REVISED 09-2024

Krieckhaus Adam J
Text Box
DEALER       PARTS BOOK
MODEL YEAR: 1997-2020  

Krieckhaus Adam J
Text Box
Edwardsville, KS
913.438.1700

Krieckhaus Adam J
Text Box
Model Years: 1997-2020




TABLE OF CONTENTS

SECTION

1 Row units; NG, NG+, NG+2, NG+3 & NG+4

2 General information, bearings, belts, and hardware

3 Meter box, seed disc, and hoppers

4 Turbofans, hydraulic drives, and gauges

5 Drive wheel blocks

6 Transmissions

7 Microsem and US insecticide systems

8 Dry Fertilizer systems

9 MS Planter information

10 Twin row items



Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
         1-1



NM-51605
300600

Krieckhaus Adam J
Text Box
         1-2

Krieckhaus Adam J
Text Box
NG Row Unit



NM-51605

300600

10176003

Krieckhaus Adam J
Text Box
         1-3

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box



NM-51605 300600

7316

7087.B

802393

Krieckhaus Adam J
Text Box
301197

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
7084.1A

Krieckhaus Adam J
Text Box
 

Krieckhaus Adam J
Text Box
         1-4

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box



300600

NM-51605

7316

301197

7087.B

802393

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
7084.1A

Krieckhaus Adam J
Text Box
7084.2A

Krieckhaus Adam J
Text Box
         1-5

Krieckhaus Adam J
Text Box
N-5101

Krieckhaus Adam J
Text Box
5/8-11 Nylon lock nut G8

Krieckhaus Adam J
Text Box
66005917



NM-51605

802393

300600

301197

Krieckhaus Adam J
Text Box
 301197

Krieckhaus Adam J
Text Box
 NM-51605

Krieckhaus Adam J
Text Box
 

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
 7084.1A

Krieckhaus Adam J
Text Box
 7084.1A

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
7084.2A

Krieckhaus Adam J
Text Box
300600

Krieckhaus Adam J
Text Box
         1-6

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
7258.GA

Krieckhaus Adam J
Text Box
HM-81680



NM-51605

300600

301197

802393

Krieckhaus Adam J
Text Box
5/8-11 NYLON LOCK NUT  G8

Krieckhaus Adam J
Text Box
 

Krieckhaus Adam J
Text Box
 7084.1A

Krieckhaus Adam J
Text Box
 7084.2A

Krieckhaus Adam J
Text Box
         1-7

Krieckhaus Adam J
Text Box
N-5101

Krieckhaus Adam J
Text Box
7258.GA

Krieckhaus Adam J
Text Box
HM-81680

Krieckhaus Adam J
Text Box
300600



7073.3SA

7073.3SA

Krieckhaus Adam J
Text Box
W-6610

Krieckhaus Adam J
Text Box
H-5301

Krieckhaus Adam J
Text Box
H-5301

Krieckhaus Adam J
Text Box
W-6610

Krieckhaus Adam J
Text Box
         1-8



Krieckhaus Adam J
Text Box
         1-9

Krieckhaus Adam J
Text Box



Krieckhaus Adam J
Text Box
         1-10



7080.S

7080.E

7080.S

Krieckhaus Adam J
Text Box
HM-61245

Krieckhaus Adam J
Text Box
NM-31203

Krieckhaus Adam J
Text Box
HM-61245

Krieckhaus Adam J
Text Box
NM-31203

Krieckhaus Adam J
Text Box
         1-11

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box



7207.2

7207.2

301480

100276

Krieckhaus Adam J
Text Box
W-5410

Krieckhaus Adam J
Text Box
H-5201

Krieckhaus Adam J
Text Box
H-5201

Krieckhaus Adam J
Text Box
W-5410

Krieckhaus Adam J
Text Box
W-5410

Krieckhaus Adam J
Text Box
N-5101

Krieckhaus Adam J
Text Box
N-5101

Krieckhaus Adam J
Text Box
301480

Krieckhaus Adam J
Text Box
         1-12

Krieckhaus Adam J
Text Box



300605

301480

300605

100276

301480

NM-31205

Krieckhaus Adam J
Text Box
301480

Krieckhaus Adam J
Text Box
301480

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
W-5410

Krieckhaus Adam J
Text Box
HM-81645

Krieckhaus Adam J
Text Box
NM-51603

Krieckhaus Adam J
Text Box
NM-51603

Krieckhaus Adam J
Text Box
W-5410

Krieckhaus Adam J
Text Box
HM-81645

Krieckhaus Adam J
Text Box
HM-61290

Krieckhaus Adam J
Text Box
HM-61290

Krieckhaus Adam J
Text Box
H-5901

Krieckhaus Adam J
Text Box
H-5901

Krieckhaus Adam J
Text Box
N-5201

Krieckhaus Adam J
Text Box
         1-13

Krieckhaus Adam J
Text Box



301480

301480

Krieckhaus Adam J
Text Box
 301480

Krieckhaus Adam J
Text Box
W-5410

Krieckhaus Adam J
Text Box
W-5410

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
 301480

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
301480

Krieckhaus Adam J
Text Box
H-5201

Krieckhaus Adam J
Text Box
N-5101

Krieckhaus Adam J
Text Box
N-5101

Krieckhaus Adam J
Text Box
301480

Krieckhaus Adam J
Text Box
H-5201

Krieckhaus Adam J
Text Box
         1-14

Krieckhaus Adam J
Text Box



NM-31205

301480

300605

301480

300605

Krieckhaus Adam J
Text Box
 301480

Krieckhaus Adam J
Text Box
301480

Krieckhaus Adam J
Text Box
W-5410

Krieckhaus Adam J
Text Box
W-5410

Krieckhaus Adam J
Text Box
HM-81645

Krieckhaus Adam J
Text Box
HM-81645

Krieckhaus Adam J
Text Box
NM-51603

Krieckhaus Adam J
Text Box
NM-51603

Krieckhaus Adam J
Text Box
HM-61290

Krieckhaus Adam J
Text Box
HM-61290

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
         1-15

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
100337

Krieckhaus Adam J
Text Box
Hiller Disc, w/V-Press Wheel Complete Assembly



H-4905
N-4001

H-4805

H-4905

N-4001

H-4805

Krieckhaus Adam J
Text Box
N-4001

Krieckhaus Adam J
Text Box
         1-16



Krieckhaus Adam J
Text Box
F65417

Krieckhaus Adam J
Text Box
F65417

Krieckhaus Adam J
Text Box
F65973

Krieckhaus Adam J
Text Box
F65973

Krieckhaus Adam J
Text Box
H-5250

Krieckhaus Adam J
Text Box
H-5250

Krieckhaus Adam J
Text Box
W-5210

Krieckhaus Adam J
Text Box
W-5210

Krieckhaus Adam J
Text Box
N-5201

Krieckhaus Adam J
Text Box
W-5210

Krieckhaus Adam J
Text Box
N-5201

Krieckhaus Adam J
Text Box
H-4201

Krieckhaus Adam J
Text Box
H-4201

Krieckhaus Adam J
Text Box
N-4301

Krieckhaus Adam J
Text Box
N-4301

Krieckhaus Adam J
Text Box
         1-17



Krieckhaus Adam J
Text Box
         1-18



300592

803557

N-2101

100015

100300

Krieckhaus Adam J
Text Box
1-19



Krieckhaus Adam J
Text Box
W-5610

Krieckhaus Adam J
Text Box
W-5610

Krieckhaus Adam J
Text Box
N-5001

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
N-5001

Krieckhaus Adam J
Text Box
CB-1150

Krieckhaus Adam J
Text Box
CB-1150

Krieckhaus Adam J
Text Box
N-1300

Krieckhaus Adam J
Text Box
N-1300

Krieckhaus Adam J
Text Box
H-3130

Krieckhaus Adam J
Text Box
H-3130

Krieckhaus Adam J
Text Box
W-2610

Krieckhaus Adam J
Text Box
W-2610

Krieckhaus Adam J
Text Box
N-2001

Krieckhaus Adam J
Text Box
N-2001

Krieckhaus Adam J
Text Box
H-4120

Krieckhaus Adam J
Text Box
H-4120

Krieckhaus Adam J
Text Box
W-4210

Krieckhaus Adam J
Text Box
W-4210

Krieckhaus Adam J
Text Box
N-4301

Krieckhaus Adam J
Text Box
N-4301

Krieckhaus Adam J
Text Box
H-4320

Krieckhaus Adam J
Text Box
H-4320

Krieckhaus Adam J
Text Box
    1-20



N-5502

N-5502

Krieckhaus Adam J
Text Box
H-4120

Krieckhaus Adam J
Text Box
H-4120

Krieckhaus Adam J
Text Box
W-4210

Krieckhaus Adam J
Text Box
W-4210

Krieckhaus Adam J
Text Box
W-4210

Krieckhaus Adam J
Text Box
N-4301

Krieckhaus Adam J
Text Box
N-4301

Krieckhaus Adam J
Text Box
N-4301

Krieckhaus Adam J
Text Box
H-4220

Krieckhaus Adam J
Text Box
H-4220

Krieckhaus Adam J
Text Box
H-4201

Krieckhaus Adam J
Text Box
H-4201

Krieckhaus Adam J
Text Box
N-4001

Krieckhaus Adam J
Text Box
N-4001

Krieckhaus Adam J
Text Box
  1-21



300600

301197

802393

653040

653042

7069.C

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
HM-61230

Krieckhaus Adam J
Text Box
N-5101

Krieckhaus Adam J
Text Box
NM-21011

Krieckhaus Adam J
Text Box
NM-31201

Krieckhaus Adam J
Text Box
  1-22



300600

301197

802393

7069.C

NM-51605

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
HM-61230

Krieckhaus Adam J
Text Box
N-5101

Krieckhaus Adam J
Text Box
NM-0605

Krieckhaus Adam J
Text Box
NM-1801

Krieckhaus Adam J
Text Box
NM-21011

Krieckhaus Adam J
Text Box
NM-31201

Krieckhaus Adam J
Text Box
    1-23

Krieckhaus Adam J
Text Box
653040

Krieckhaus Adam J
Text Box
6967.3SD

Krieckhaus Adam J
Text Box
653042



66006840
66006841

7122.2G 
7122.2D

66006840
66006841

7122.2G
7122.2D

Krieckhaus Adam J
Text Box
   1-24



HM-81680

Krieckhaus Adam J
Text Box
   1-25

Krieckhaus Adam J
Text Box
HM-81680



F37339

HM-81680

100369
KD10473

N-0615

F37339

100369

KD10473

N-0615

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
N-1110

Krieckhaus Adam J
Text Box
N-1110

Krieckhaus Adam J
Text Box
   1-26

Krieckhaus Adam J
Text Box
N-1110

Krieckhaus Adam J
Text Box
N-1110

Krieckhaus Adam J
Text Box
N-1110

Krieckhaus Adam J
Text Box
7258.GA

Krieckhaus Adam J
Text Box
7073.3SA

Krieckhaus Adam J
Text Box
HM-2831

Krieckhaus Adam J
Text Box
HM-2845

Krieckhaus Adam J
Text Box
7073.3SA

Krieckhaus Adam J
Text Box
900125

Krieckhaus Adam J
Text Box
7073.2

Krieckhaus Adam J
Text Box
7073.3SA

Krieckhaus Adam J
Text Box
7073.2



H-4301

Krieckhaus Adam J
Text Box
   1-27



H-4301

Krieckhaus Adam J
Text Box
  1-28



Krieckhaus Adam J
Text Box
1-29

Krieckhaus Adam J
Text Box
300597

Krieckhaus Adam J
Text Box
300596

Krieckhaus Adam J
Text Box
**

Krieckhaus Adam J
Text Box
**

Krieckhaus Adam J
Text Box
100017-Monoshox Assembly complete

Krieckhaus Adam J
Stamp

Krieckhaus Adam J
Stamp

Krieckhaus Adam J
Stamp

Krieckhaus Adam J
Stamp

Krieckhaus Adam J
Text Box
20

Krieckhaus Adam J
Text Box
10160028

Krieckhaus Adam J
Text Box
Bushing, MONOSHOX Unit Frame



Krieckhaus Adam J
Text Box
1-30

Krieckhaus Adam J
Text Box
**

Krieckhaus Adam J
Text Box
**

Krieckhaus Adam J
Text Box
100017-Monoshox Assembly complete

Krieckhaus Adam J
Text Box
Bushing, MONOSHOX Unit Frame

Krieckhaus Adam J
Text Box
10160028

Krieckhaus Adam J
Stamp

Krieckhaus Adam J
Stamp

Krieckhaus Adam J
Stamp

Krieckhaus Adam J
Stamp

Krieckhaus Adam J
Text Box
19

Krieckhaus Adam J
Text Box
300597

Krieckhaus Adam J
Text Box
300596



Krieckhaus Adam J
Text Box
1-31



5021.2

300600

653040

653042

801644

301197

300600

802393

Krieckhaus Adam J
Text Box
   1-32



301197

802393

Krieckhaus Adam J
Text Box
         1-33

Krieckhaus Adam J
Text Box
66006160                 Monoshox Unit Frame                                      .

Krieckhaus Adam J
Text Box



801644

30060

802393

801644

301197

300600

Krieckhaus Adam J
Text Box
300600

Krieckhaus Adam J
Text Box
        1-34



802393

301197

Krieckhaus Adam J
Text Box
   1-35



653546

653546

HM-81680

Krieckhaus Adam J
Text Box
         1-36

Krieckhaus Adam J
Text Box
HM-81680



Krieckhaus Adam J
Text Box
115113

Krieckhaus Adam J
Text Box
 1-37



Krieckhaus Adam J
Text Box
NM-51603

Krieckhaus Adam J
Text Box
         1-38



















20021564

20021567

Krieckhaus Adam J
Text Box
3-1



65032072

20021567
20021564

Krieckhaus Adam J
Text Box
3-2

Krieckhaus Adam J
Text Box
651928

Krieckhaus Adam J
Text Box
Windshield assembly, complete

Krieckhaus Adam J
Text Box
65032072

Krieckhaus Adam J
Text Box
Complete meter box w/26T sprocket (NG+)

Krieckhaus Adam J
Text Box



Krieckhaus Adam J
Text Box
Standard Cover

Krieckhaus Adam J
Text Box
Recommended for seeds smaller than 1.2mm

Krieckhaus Adam J
Text Box
Standard Cover

Krieckhaus Adam J
Text Box
Recommended for Corn, Milo,
Squash when using Peanut cover.

Krieckhaus Adam J
Text Box
Recommended for Turnips, Kale, Sesame, Raw Onion when using Peanut cover.

Krieckhaus Adam J
Text Box
Seed flow gates to restrict the flow of seed into the meter

Krieckhaus Adam J
Text Box
Standard Cover



Krieckhaus Adam J
Text Box
SEED DISC IDENTIFICATION



             3 - 5

NG+ SEED DISC RECOMMENDATIONS

CROP SEED DISC DESCRIPTION SEED SPACING

Beans DN3665 Large, Kidney 2-3/8 - 7"
DN4850* Large, Pinto, Romano, Lima, Chickpea 1-3/4 - 5-1/2"

DN6035* Small, Navy, Peas 1-3/8 - 4-3/8"
DN6045* Medium, Snap, Baby Limas, Soybeans 1-3/8 - 4-3/8"

Broccoli and DN3612 (low population) 2-3/8 - 7"
Cabbage DN7212 (high population) 1-3/16 - 3-1/2"

Canola DN7212 1-3/16 - 3-1/2"

Cauliflower DN3612 (low population) 2-3/8 - 7"
DN7212 (high population) 1-3/16 - 3-1/2"

Collard Greens DN7208 1-3/16 - 3-1/2"

Corn DN0905 Field 9-1/2 - 28"

DN1250 7 - 21"

DN1850*  (low population) 4-3/4 - 14"

DN2450*  (medium population) 3-1/2 - 10-1/2"
DN3050*  (high population) 2-3/4 - 8-1/2"

DN2437, small, 2700-5000 seeds/lb Sweet 3-1/2 - 10-1/2"
DN2445, large, 1700-2700 seeds/lb 3-1/2 - 10-1/2"

DN2425 Ornamental 3-1/2 - 10-1/2"

Cotton DN3635*  (low population) Single seed drop 2-3/8 - 7"
DN6035 (high population) Single seed drop 1-3/8 - 4-3/8"

DN0930D (double seed drop) Hill drop(seeds 3/4 - 2" apart) 9-1/2 - 28"
DN0930T (triple seed drop) Hill drop(seeds 3/4 - 2" apart) 9-1/2 - 28"

DN1230D (double seed drop) Hill drop(seeds 3/4 - 2" apart) 7-1/8 - 21"
DN1230T (triple seed drop) Hill drop(seeds 3/4 - 2" apart) 7-1/8 - 21"

DN1830D (double seed drop) Hill drop(seeds 3/4 - 2" apart) 4-3/4 - 14"
DN1830T (triple seed drop) Hill drop(seeds 3/4 - 2" apart) 4-3/4 - 14"

Cucumbers/ DN1820 Hand harvest 4-3/4 - 14"
Pickles DN3020 Machine harvest 2-3/4 - 8-1/2"

Kale DN7208 1-3/16 - 3-1/2"

Melons DN0620*  (low population) Watermelon, large seed 28-1/2 - 84"

DN0920 (medium population) 9-1/2 - 28"
DN1820 (high population) 4-3/4 - 14"

DN0325(low population) Watermelon, large seed 28-1/2 - 84"

DN0325D (hill drop) Drop two seeds, 1-3/8 -4-3/8" apart 28-1/2 - 84"

DN0625 (medium population) 14-1/4 - 42"

DN062D (hill drop) Drop two seeds, 1-3/8 -4-3/8" apart 14-1/4 - 42"
DN0925 (high population) 9-1/2 - 28"

Okra, Artichoke DN3622* 2-3/8 - 7"
DN7222* 1-3/16 - 3-1/2"

* These discs are also stocked as complete discs w/ agitator use part#: DC####

 DN= Stainless Steel Seed Disc back  DC= Seed Disc back and Agitator

 All discs may be ordered as complete discs but they are subject to some added lead time

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
3-5



             3 - 6

NG+ SEED DISC RECOMMENDATIONS

CROP SEED DISC DESCRIPTION SEED SPACING

Onions DN3610 (low population) Raw 2-3/8 - 7"

DN7210 (high population) 1-3/16 - 3-1/2"

DN3622*  (low population) Pelleted 2-3/8 - 7"
DN7222*  (high population) 1-3/16 - 3-1/2"

Parsley DN7208 1-3/16 - 3-1/2"

Peanuts DN3665 Jumbo Seed 2-3/8 - 7"

DN3060*  (twin row) Small to medium seed 2-3/4 - 8-1/2"

DN4060 Small to medium seed 2-1/8 - 6-1/2"
DN4860 (not recommended) Small to medium seed, (High pop) 1-3/4 - 5-1/2"

Peppers DN3612 (low population) 2-3/8 - 7"
DN7212 (high population) 1-3/16 - 3-1/2"

Pumpkins DN0335 (low population) 28-1/2 - 84"

DN0335D (hill drop) Drop two seeds, 1-3/8 - 4-3/8" apart 28-1/2 - 84"

DN0635 (medium populaton) 14-1/4 - 42"

DN0635D (hill drop) Drop two seeds, 1-3/8 - 4-3/8" apart 14-1/4 - 42"
DN0935 (high population) 9-1/2 - 28"

Radish DN6015 1-3/8 - 4-3/8"

Rice DN9016 15/16 - 2-3/4"

Sesame DN7208 1-3/16 - 3-1/2"

Sorghum DN3622*  (low population) 2-3/8 - 7"
DN7222 (high population) 1-3/16 - 3-1/2"

Spinach DN6015 Small seed 1-3/8 - 4-3/8"

DN6020 Large seed 1-3/8 - 4-3/8"
DN12020 Large seed (high population) 11/16 - 2-1/16"

Squash DN0625 (medium population) Summer 14-1/4 -42"
DN0925 (high population) 9-1/2 - 28"

DN0635 (medium population) Winter 14-1/4 - 42"
DN0935 (high population) 9-1/2 -28"

Sugarbeets DN4020*  (medium population) Medium, Large & Pelleted seed 2-1/8 - 6-1/2"

DN4025* (medium population) Large and Pelleted seed 2-1/8 - 6-1/2"
DN6020 (high population) Medium, Large & Pelleted seed 1-3/8 - 4-3/8"

DN12015 (seed production) Medium, Large & Pelleted seed 11/16 - 2-1/16"
DN12020 (seed production) Small, Medium, Large & Pelleted seed 11/16 - 2-1/16"

Sunflowers DN1225 (low population) Oil & Confection 7-1/8 - 21"
DN1825*  (high population) 4-3/4 - 14"

Tomatoes DN7212 1-3/16 - 3-1/2"
DN1212T (hill drop 12 x 3 x 1.2) 7-21"

Turnips DN7208 1-3/16 - 3-1/2"

* These discs are also stocked as complete discs w/ agitator use part#: DC####

 DN= Stainless Steel Seed Disc back  DC= Seed Disc back and Agitator

 All discs may be ordered as complete discs but they are subject to some added lead time

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
 3-6





800501



W-9618

800501 
W-0415



W-9618

W-9618

W-9618



W-9618



Krieckhaus Adam J
Text Box
  10621056

Krieckhaus Adam J
Text Box
W-9618





Hose for MS
#4416-35mm Vacuum Hose

Krieckhaus Adam J
Text Box
#4454.50- 40mm Vacuum Hose-50 ft roll







4244.CO

Krieckhaus Adam J
Text Box
   4-3



Krieckhaus Adam J
Text Box
   4-4



Krieckhaus Adam J
Text Box
   4-5



Krieckhaus Adam J
Text Box
4-6



Krieckhaus Adam J
Text Box
  4-7



Krieckhaus Adam J
Text Box
 4-8



Krieckhaus Adam J
Text Box
   4-9



300982
300977

Krieckhaus Adam J
Text Box
   4-10

Krieckhaus Adam J
Text Box
100092  -    COMPLETE HYDRAULIC DRIVE KIT FOR EXTRA HI OUTPUT FAN

Krieckhaus Adam J
Text Box



Krieckhaus Adam J
Text Box
   4-11

Krieckhaus Adam J
Text Box
644496

Krieckhaus Adam J
Text Box
XHO Turbofan Assembly, 500 RPM- Less Manifold



Krieckhaus Adam J
Text Box
   4-12



Krieckhaus Adam J
Text Box
   4-13



Krieckhaus Adam J
Text Box
   4-14



Krieckhaus Adam J
Text Box
   4-15

Krieckhaus Adam J
Text Box
T279PP-4-2

Krieckhaus Adam J
Text Box
T268-4-2

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
N-2101



300600

Krieckhaus Adam J
Text Box
HM-2812

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
  300600

Krieckhaus Adam J
Text Box
  300600



10629013

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box



21

20

3227

31

2930 33

10.3

10.5

10

9 8

4

5

17
18

26

28

1323

15

1

6.10

6.96.7

6.8
6.4

6.3
6.2

6

11.5

11.3

10.1
24

2834
35

26

2

11

27

10.4 10.6

10.7

11.2
11.4

11.6

11.7

6.1

3

12

6.11

14 14.1

22
25

28

16

6.5

6.6

10.2

19

11.1

7.4

7.3
7.1

7.2

7.2

7.6

7.5

7.7

7.8

7.9

7.10

7

7.11

ITEM PART NUMBER DESCRIPTION

1 4710.2B 5X5, ADJUSTABLE WHL BLCK, RH
2 4710.1B 5X5, ADJUSTABLE WHL BLCK, LH
3 1534.A CLAMP, 5 X 5
4 HM-81670 HEX, BOLT, 16 X 70, G8.8
5 NM-72001 NUT, HEX, 20mm, G8.8
6 653611 ADJUSTMENT SCREW ASSY

6.1   7083 KNOB
6.2   10172092 ROLL PIN, 6X35
6.3   4728 HEX NUT, 20MM W/6MM HOLE
6.4   NM-72001 NUT, HEX, 20mm, G8.8
6.5   4711 SPACER BUSHING
6.6   4717 PIVOT PIN
6.7   20019052 BUSHING, 12 ID X 18.5 OD X 13 L
6.8   HM-61225 HEX, BOLT, 12 X 25, G8.8
6.9   4714 ADJUSTING THREADED ROD

6.10   4715 PIVOT PIN
6.11   10118.A GREASE ZERK, 45°, 6MM

7 650610 SCREW ADJUSTMENT, SPRING LOADED
7.1   7083 KNOB
7.2   301090 ROLL PIN, 5 X 24MM
7.3   4728 HEX NUT, 20MM W/6MM HOLE
7.4   NM-72005 NUT, NYLOCK, 20mm, G8.8
7.5   66005779 PIN, TRUNNION
7.6   HM-2816 HEX, BOLT, 8 X 16, G8.8
7.7   5666.2 SPRING
7.8   10623028 WASHER, 21 X 40 X 2 MM
7.9   4726 THREADED ROD, SPRING LOADED

7.10   4715 PIVOT PIN
7.11   10118.A GREASE ZERK, 45°, 6MM

8 4659 BEARING, (205KRR2)
9 4660 SNAP RING, INTERNAL, 52MM

10 4467.D HEX SHAFT SLIP CLUTCH RH
10.1   4313 SLIP CLUTCH PROTECTION TUBE
10.2   10590084 SCREW, FLANGED BUTTON HEAD, M6 X 10
10.3   4312.A BUSHING & SPRING STOP
10.4   HM-2812 HEX, BOLT, 8 X 12 G8.8

ITEM PART NUMBER DESCRIPTION

10.5   4311 SPRING. SLIP CLUTCH
10.6   4310.2A CLAW, SLIPCLUTCH, RH
10.7   4309.2B SPROCKET, 13T, RH
11 4467.G HEX SHAFT SLIP CLUTCH LH

11.1   4313 SLIP CLUTCH PROTECTION TUBE
11.2   10590084 SCREW, FLANGED BUTTON HEAD, M6 X 10
11.3   4312.A BUSHING & SPRING STOP
11.4   HM-2812 HEX, BOLT, 8 X 12 G8.8
11.5   4311 SPRING. SLIP CLUTCH
11.6   4310.1A CLAW, SLIPCLUTCH, LH
11.7   4309.1B SPROCKET, 13T, LH
12 4655 BEARING AND FLANGE
13 4653 HUB
14 900015.1 WHEEL w/ RIM, 5.90 X 15 TIRE

14.1   G170106152 TIRE, 5.90 x 15 STANDARD
15 4654 SPINDLE, HEX
16 4716 SPACER
17 4656.A SPROCKET, HEX BORE, 13T
18 10173020 ROLL PIN, 8 X 40
19 301090 ROLL PIN, 5 X 24MM
20 4658.A ADJUSTABLE DRIVE WHEEL SHIELD
21 10561053 CARRIAGE BOLT, 8 X 18MM
22 NM-1801 NUT, HEX, 8mm, G8.8
23 1277 BOLT, HEX 14 X 30 MM
24 1277.3 LUG NUT, 14 MM
25 NM-0501 NUT, HEX, JAM, 5mm, G8.8
26 HM-61250 HEX, BOLT, 12 X 50, G10.9
27 10629013 WASHER, ET LOCK, 12mm
28 NM-31201 NUT, HEX, 12mm, G8.8
29 4319 IDLER
30 10621056 WASHER, FLAT, 13 X 30 X 6
31 4320 BOLT, CHAIN TENSIONER, 12MM
32 10621055 WASHER, FLAT, 13 X 30 X 5
33 4657.A CHAIN, 12BR/#60, 66P, W/ CL
34 9658 BUSHING, 12 ID X 18 OD X 25 L
35 10621061 WASHER, FLAT, 13 X 40 X 4

Krieckhaus Adam J
Text Box
5-3



Krieckhaus Adam J
Text Box
650610



Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
4706.a



300600

10629013

TA3800-6-6

Krieckhaus Adam J
Text Box
4706.a

Krieckhaus Adam J
Text Box
300600

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box



Krieckhaus Adam J
Text Box
AW51522V

Krieckhaus Adam J
Text Box
H-2100

Krieckhaus Adam J
Text Box
H-6151

Krieckhaus Adam J
Text Box
W-1610

Krieckhaus Adam J
Text Box
W-6610

Krieckhaus Adam J
Text Box
N-9601

Krieckhaus Adam J
Text Box
    301427

Krieckhaus Adam J
Text Box
100191

Krieckhaus Adam J
Text Box
300595

Krieckhaus Adam J
Text Box
100229
100230

Krieckhaus Adam J
Text Box
801146

Krieckhaus Adam J
Text Box
300594

Krieckhaus Adam J
Text Box
200187

Krieckhaus Adam J
Text Box
200157

Krieckhaus Adam J
Text Box
200184

Krieckhaus Adam J
Text Box
300599

Krieckhaus Adam J
Text Box
300598

Krieckhaus Adam J
Text Box
 802669

Krieckhaus Adam J
Text Box
300601

Krieckhaus Adam J
Text Box
100296
100297

Krieckhaus Adam J
Text Box
180039

Krieckhaus Adam J
Text Box
802669

Krieckhaus Adam J
Text Box
300600



180039
300597
300596

200157

200184
801146

300595

100191

200187
300598
802669
300599
100296
100297

300601
300600
300594

100230
100229

Krieckhaus Adam J
Text Box
H-2100

Krieckhaus Adam J
Text Box
H-6151

Krieckhaus Adam J
Text Box
W-1610

Krieckhaus Adam J
Text Box
W-6610

Krieckhaus Adam J
Text Box
N-9601

Krieckhaus Adam J
Text Box
301427

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box



Krieckhaus Adam J
Text Box
   5-9



W-6610

300595

100191

300593
300591
200187
300594

200185
200186

300592

200184

200157
801146

300597
300596
200466

300600
300599

100296

100297

802669

300598

HM-41020

300601

802099

100229
802142

802137
802098
802097

200184

802100

100230

Krieckhaus Adam J
Text Box
301427

Krieckhaus Adam J
Text Box
     5-10

Krieckhaus Adam J
Text Box
300595

Krieckhaus Adam J
Text Box
300593

Krieckhaus Adam J
Text Box
200185

Krieckhaus Adam J
Text Box
300592

Krieckhaus Adam J
Text Box
802669

Krieckhaus Adam J
Text Box
300598



4326.4

300597
180039
300596 HM-41020

180039

Krieckhaus Adam J
Text Box
180039

Krieckhaus Adam J
Text Box
NM-1801

Krieckhaus Adam J
Text Box
4507.C

Krieckhaus Adam J
Text Box
4325.C

Krieckhaus Adam J
Text Box
 NM-51605

Krieckhaus Adam J
Text Box
4522.A

Krieckhaus Adam J
Text Box
10561053

Krieckhaus Adam J
Text Box
 10502014

Krieckhaus Adam J
Text Box
4326.4

Krieckhaus Adam J
Text Box
NM-21015

Krieckhaus Adam J
Text Box
10561053

Krieckhaus Adam J
Text Box
10629009

Krieckhaus Adam J
Text Box
9147

Krieckhaus Adam J
Text Box
4510.B

Krieckhaus Adam J
Text Box
4508.B

Krieckhaus Adam J
Text Box
5021

Krieckhaus Adam J
Text Box
 4512.A

Krieckhaus Adam J
Text Box
10170066

Krieckhaus Adam J
Text Box
4327.A

Krieckhaus Adam J
Text Box
4511.B

Krieckhaus Adam J
Text Box
10622024

Krieckhaus Adam J
Text Box
5021

Krieckhaus Adam J
Text Box
5501

Krieckhaus Adam J
Text Box
10170014

Krieckhaus Adam J
Text Box
   4537

Krieckhaus Adam J
Text Box
     4519

Krieckhaus Adam J
Text Box
4509.B

Krieckhaus Adam J
Text Box
10170031

Krieckhaus Adam J
Text Box
  10620069

Krieckhaus Adam J
Text Box
  4584

Krieckhaus Adam J
Text Box
  10172090

Krieckhaus Adam J
Text Box
     4521

Krieckhaus Adam J
Text Box
    4523

Krieckhaus Adam J
Text Box
   4523.1

Krieckhaus Adam J
Text Box
  NM-1801

Krieckhaus Adam J
Text Box
10629009

Krieckhaus Adam J
Text Box
4539.B

Krieckhaus Adam J
Text Box
 HM-81670

Krieckhaus Adam J
Text Box
 HM-71435

Krieckhaus Adam J
Text Box
NM-41205

Krieckhaus Adam J
Text Box
4522.2A

Krieckhaus Adam J
Text Box
180039

Krieckhaus Adam J
Text Box
300597

Krieckhaus Adam J
Text Box
HM-41020



180039

300597
300596

200476

200466
800446

Krieckhaus Adam J
Text Box
180039

Krieckhaus Adam J
Text Box
300597

Krieckhaus Adam J
Text Box
300596

Krieckhaus Adam J
Text Box
200476

Krieckhaus Adam J
Text Box
200466

Krieckhaus Adam J
Text Box
800446

Krieckhaus Adam J
Text Box
6-2



Krieckhaus Adam J
Text Box
6-4

Krieckhaus Adam J
Text Box
6-3

Krieckhaus Adam J
Text Box
6-3



F65127

W-2610

Krieckhaus Adam J
Text Box
6-4



Krieckhaus Adam J
Text Box
6-5



Krieckhaus Adam J
Text Box
   6-6



6077 
F64251

Krieckhaus Adam J
Text Box
6-7

Krieckhaus Adam J
Text Box
300597

Krieckhaus Adam J
Text Box
300596



Krieckhaus Adam J
Text Box
     6-8



W-2610

6077
F64251

300597

300596

Krieckhaus Adam J
Text Box
   6-9



300594
4694

300591

Krieckhaus Adam J
Text Box
MICROSEM ASSEMBLY
                        Microsem transmission

Krieckhaus Adam J
Text Box
Bushing (17mmID x 25mmOD, 10mm long)

Krieckhaus Adam J
Text Box
9548.b

Krieckhaus Adam J
Text Box
200305

Krieckhaus Adam J
Text Box
300594

Krieckhaus Adam J
Text Box
200305

Krieckhaus Adam J
Text Box
300591

Krieckhaus Adam J
Text Box
4694

Krieckhaus Adam J
Text Box
9525

Krieckhaus Adam J
Text Box
9650



Krieckhaus Adam J
Text Box
7-2

Krieckhaus Adam J
Text Box
MICROSEM TRANSMISSION-TWIN ROW



33

26

3

37

12

15
38 27

16

34
5

45
6

35

35

23

13

11

11

36

10

25

24

22

21

20

27

39

7

29
42

41

19

18

44

30
4

31

28
31

32

9

43

8

2

43
9

31

40

1

17

14

3

44

46

REV. DATE DESCRIPTION BY

D 6/5/2012 200581 WAS E2002, ADDED 10118 JS
C 2/22/2011 QTY, ON 9554.16 WAS 2, ADDED 9554.21 JS
B 1/11/2011 UPDATED ASSEMBLY JS
A 9/30/2010 PRODUCTION RELEASE JS

ITEM NO. QTY. PART NUMBER DESCRIPTION
1 1 200226 MICROSEM FRAME WA 
2 1 200581 HOUSING WA 
3 2 5021 SELF LUBRICATING BUSHING
4 1 9562 CHAIN ROLLER
5 1 9612 INTERMEDIATE SHAFT MICROSEM DR
6 1 9552 SPACER INTERCHANGEABLE SPROCKET
7 1 7157 LATERAL TIGHTENER SPRING
8 1 9280 SUPPORT BUSHING DRIVE
9 2 4329.A SNAP RING
10 1 9158 PRESSURE SPRING
11 2 9557 LYNCH PIN
12 1 KD11962 IDLER, #41 CHAIN
13 1 9559 BUSHING, 17 X 25 X 10mm
14 1 E2003 SPACER
15 1 KD1026 BUSHING, .625" X 1.188"
16 1 7150 PRESSURE SPRING
17 1 200229 IDLER ARM WA 
18 1 KD0916 CHAIN ROLLER
19 1 E7523.1 BUSHING, .625 X .510 X 1.50
20 1 9554.21 SPROCKET, 30T
21 1 9554.16 SPROCKET, 25T
22 1 9554.13 SPROCKET, 22T
23 1 9554.9 SPROCKET, 18T
24 1 9554.6 SPROCKET, 15T
25 1 9554.3 SPROCKET, 15T
26 1 9654 SPROCKET, DOUBLE INTERMEDIATE, 12-20T
27 2 N-2101 NUT, NYLOCK 3/8"-16 G8
28 2 HM-2860 HEX, BOLT, 8 X 60, G8.8
29 2 NM-1801 NUT, HEX, 8mm, G8.8
30 1 H-4301 BOLT, HEX, 1/2"-13 X 3" G5
31 3 N-4001 NUT, HEX, 1/2"-13, G8
32 1 CB-4411 BOLT, CARR., 1/2"-13 X 1.50, G5
33 1 10172090 ROLL PIN, 6 X 25mm
34 1 10172091 ROLL PIN, 6 X 30mm
35 2 10170065 SPLIT PIN, 5 X 30mm
36 1 W-5410 WASHER, FLAT, 5/8" SAE G8
37 1 H-3320 BOLT, HEX, 3/8"-16 X 3-1/2" G8
38 1 W-2210 WASHER, FLAT, 3/8" USS G8
39 2 W-2410 WASHER, FLAT, 3/8" SAE G8
40 1 NM-31205 NUT, NYLOCK, 12mm, G8.8
41 1 HM-61280 HEX, BOLT, 12 X 80, G8.8
42 1 H-3200 BOLT, HEX, 3/8"-16 X 2" G8
43 2 10624014 WASHER, FLAT, 31 X 41 X 1
44 2 10621046 WASHER, FLAT, 13 X 27 X 2
45 2 10622024 WASHER, FLAT, 16.5 X 26 X 1
46 1 10118 GREASE ZERK, 6mm

Monday, October 3, 2022 11:03:45 AM

Krieckhaus Adam J
Text Box
7-3

Krieckhaus Adam J
Text Box
MICROSEM TRANSMISSION-TWIN ROW



Krieckhaus Adam J
Text Box
6090

Krieckhaus Adam J
Text Box
9517

Krieckhaus Adam J
Text Box
9512

Krieckhaus Adam J
Text Box
9516

Krieckhaus Adam J
Text Box
9513.B

Krieckhaus Adam J
Text Box
9565

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
9500.A

Krieckhaus Adam J
Text Box
   9505.A

Krieckhaus Adam J
Text Box
  9574

Krieckhaus Adam J
Text Box
9500.A

Krieckhaus Adam J
Text Box
 9523

Krieckhaus Adam J
Text Box
     9520.1

Krieckhaus Adam J
Text Box
9508

Krieckhaus Adam J
Text Box
9514

Krieckhaus Adam J
Text Box
9509

Krieckhaus Adam J
Text Box
9507

Krieckhaus Adam J
Text Box
5021

Krieckhaus Adam J
Text Box
9519

Krieckhaus Adam J
Text Box
9565

Krieckhaus Adam J
Text Box
  9506

Krieckhaus Adam J
Text Box
9504

Krieckhaus Adam J
Text Box
5021

Krieckhaus Adam J
Text Box
9521

Krieckhaus Adam J
Text Box
9520

Krieckhaus Adam J
Text Box
9520.A

Krieckhaus Adam J
Text Box
9568

Krieckhaus Adam J
Text Box
  9524

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
10622024

Krieckhaus Adam J
Text Box
7-4



Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
    7-5



Krieckhaus Adam J
Text Box
7-6



Krieckhaus Adam J
Text Box
    7-7



200180

W-2610
N-2001

201362

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
7-8



Krieckhaus Adam J
Text Box
 7-9



300600

300600

4503

7064.B

900263

7087.A

7127

NM-51605

7316

301197

7087.B

802393

F64251

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
H-2100

Krieckhaus Adam J
Text Box
N-1001

Krieckhaus Adam J
Text Box
N-1300

Krieckhaus Adam J
Text Box
H-3309

Krieckhaus Adam J
Text Box
KD2971-10

Krieckhaus Adam J
Text Box
 7-10



Krieckhaus Adam J
Text Box
            7-11



Krieckhaus Adam J
Text Box
   7-12



F64251

N-2300

Krieckhaus Adam J
Text Box
H-1075

Krieckhaus Adam J
Text Box
H-3075

Krieckhaus Adam J
Text Box
W-2610

Krieckhaus Adam J
Text Box
H-2100

Krieckhaus Adam J
Text Box
W-1210

Krieckhaus Adam J
Text Box
N-1300

Krieckhaus Adam J
Text Box
H-3230

Krieckhaus Adam J
Text Box
W-2210

Krieckhaus Adam J
Text Box
W-2210

Krieckhaus Adam J
Text Box
W-2210

Krieckhaus Adam J
Text Box
W-1210

Krieckhaus Adam J
Text Box
    7-13

Krieckhaus Adam J
Text Box
F64251

Krieckhaus Adam J
Text Box
N-2300



F64251

N-2300

Krieckhaus Adam J
Text Box
H-1075

Krieckhaus Adam J
Text Box
H-3075

Krieckhaus Adam J
Text Box
W-2610

Krieckhaus Adam J
Text Box
H-2100

Krieckhaus Adam J
Text Box
W-1210

Krieckhaus Adam J
Text Box
N-1300

Krieckhaus Adam J
Text Box
H-3230

Krieckhaus Adam J
Text Box
W-2210

Krieckhaus Adam J
Text Box
7-14



180039
300597
300596

Krieckhaus Adam J
Text Box
Flange Bearing Kit

Krieckhaus Adam J
Text Box
180039



Krieckhaus Adam J
Text Box
   8-2

Krieckhaus Adam J
Text Box
9255

Krieckhaus Adam J
Text Box
9267

Krieckhaus Adam J
Text Box
9275

Krieckhaus Adam J
Text Box
65014905



65014905

Krieckhaus Adam J
Text Box
            8-3

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
9255



Krieckhaus Adam J
Text Box
            8-4



F64251

6077
F65127

Krieckhaus Adam J
Text Box
            8-5



Krieckhaus Adam J
Text Box
            8-6



KD21398

Krieckhaus Adam J
Text Box
            8-7

Krieckhaus Adam J
Text Box
H-4111



Krieckhaus Adam J
Text Box
            8-8



Krieckhaus Adam J
Text Box
            8-9



NOTCHED SINGLE DISC FERTILIZER OPENER
FOC018(TWL34e/TWL34f/TWL34g/FRTZ209j/FRTZ208)

26

STYLE B

27

Dry Fertilizer

15

13

24
---''''To Pump13

To Opener
Optional-
Liquid Fertilizer Only

Rev. 9/02P78

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box



NOTCHED SINGLE DISC FERTILIZER OPENER

DESCRIPTIONQTY.
(Per Assy.)

PART NO.

Hex Head Cap Screw, 1/2"-13 x I.V211

Hex Nut, 1/2"-13
Mount
Arm, 13 1/2"
Grease Fitting, 1/4H-28
Bushing, W O.D. x V2" Long
Compression Spring Assembly
Hex Head Cap Screw, 3/8"-16 x 1 3/4H

Washer, 3/8" USS
Lock Nut, 3/8"-16
Sleeve, 1 W Long
Pivot Arm, L.H. (Shown)
Pivot Arm, R.H.
Scraper,L.H. (Shown)
Scraper,R.H.
Hex Head Cap Screw, 3/8"-16 x 3/4"
Carriage Bolt, 3/s"-16 x 2"
Lock Nut, 3/s"-16
Knife, L.H. (Shown)
Knife, R.H.
Hex Head Cap Screw, 5/i6"-18 x Vs"
Lock Washer, Vw"
Washer, 5/16" USS
Stepped Spacer, 3" Long
HubW/Bearing
Double Row Bearing
Hex Head Cap Screw, 5/8"-11x5 1/2"
Washer, 1 V2"O.D., 7 Gauge, Hardened
Lock Nut, 5/8"-11
Hex Head Cap Screw, 5/8"-11 x 5"
Washer, 5/s"USS
Machine Bushing, 1 V2",18 Gauge (As Required)
Lock Nut, 5/8“-11
Disc Blade, Notched, 16 3k"
Hex Head Cap Screw, 1/2"-13 x 6"
Washer, 1/2" SAE
Lock Nut, 1/2"-13
U-Bolt, 1 1/2" x 2 1/2" x 1/2"-13
Lock Washer, V2"
Hex Nut, 1/2"-13
Drop Tube, L.H., Dry Fertilizer (Shown)
Drop Tube, R.H., Dry Fertilizer
Knife/DropTube, L.H., Liquid Fertilizer (Shown) (Sub KA8399 And KB0249)
Knife/Drop Tube, R.H., Liquid Fertilizer (Sub KA8398 And KB0248)
CheckValve, Low Rate
Drop Tube, L.H., Liquid Fertilizer (Shown)
Drop Tube, R.H., Liquid Fertilizer
Mount W/U-Bolts, Liquid Fertilizer
U-Bolt, 5" x 7" x 5/8"-11
Lock Washer, 5/s"
Hex Nut, 5/8"-11
Mount W/U-Bolts, L.H., Dry Fertilizer
U-Bolt, 5" x 7" x 5/8"-11
Lock Washer, 5/8"
Hex Nut, 5/s"-11
Mount W/U-Bolts, R.H., Dry Fertilizer
U-Bolt, 5" x 7" x 5/s"-11
Lock Washer, 5/8"
Hex Nut, 5/8"-11

P79 Rev. 9/02

K10017
K10102
KB0297
KB0296
K10640
KD12685
KA6966
K10047
K10210
K10108
KD1026
KA9433
KA9434
KD11557
KD11558
K10002
K10306
K10108
KB0249
KB0248
K10991
K10232
K10219
KD12679
KA9437
KA8603
K10011

- KD12677
K10107
K10046
K10217
K10450
K10107
KD12676
K10871
K10206
K10111
KD13287
K10228
K10102
KA6973
KA6972
KA9461
KA9462
KA8983
KA8399
KA8398
KA9458
KD1113
K10230
KD10104
KA9821
KD1113
K10230
KD10104
KA9822
KD1113
K10230
KD10104

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box



21

20

3227

31

2930 33

10.3

10.5

10

9 8

4

5

17
18

26

28

1323

15

1

6.10

6.96.7

6.8
6.4

6.3
6.2

6

11.5

11.3

10.1
24

2834
35

26

2

11

27

10.4 10.6

10.7

11.2
11.4

11.6

11.7

6.1

3

12

6.11

14 14.1

22
25

28

16

6.5

6.6

10.2

19

11.1

7.4

7.3
7.1

7.2

7.2

7.6

7.5

7.7

7.8

7.9

7.10

7

7.11

ITEM PART NUMBER DESCRIPTION

1 4710.2B 5X5, ADJUSTABLE WHL BLCK, RH
2 4710.1B 5X5, ADJUSTABLE WHL BLCK, LH
3 1534.A CLAMP, 5 X 5
4 HM-81670 HEX, BOLT, 16 X 70, G8.8
5 NM-72001 NUT, HEX, 20mm, G8.8
6 653611 ADJUSTMENT SCREW ASSY

6.1   7083 KNOB
6.2   10172092 ROLL PIN, 6X35
6.3   4728 HEX NUT, 20MM W/6MM HOLE
6.4   NM-72001 NUT, HEX, 20mm, G8.8
6.5   4711 SPACER BUSHING
6.6   4717 PIVOT PIN
6.7   20019052 BUSHING, 12 ID X 18.5 OD X 13 L
6.8   HM-61225 HEX, BOLT, 12 X 25, G8.8
6.9   4714 ADJUSTING THREADED ROD

6.10   4715 PIVOT PIN
6.11   10118.A GREASE ZERK, 45°, 6MM

7 650610 SCREW ADJUSTMENT, SPRING LOADED
7.1   7083 KNOB
7.2   301090 ROLL PIN, 5 X 24MM
7.3   4728 HEX NUT, 20MM W/6MM HOLE
7.4   NM-72005 NUT, NYLOCK, 20mm, G8.8
7.5   66005779 PIN, TRUNNION
7.6   HM-2816 HEX, BOLT, 8 X 16, G8.8
7.7   5666.2 SPRING
7.8   10623028 WASHER, 21 X 40 X 2 MM
7.9   4726 THREADED ROD, SPRING LOADED

7.10   4715 PIVOT PIN
7.11   10118.A GREASE ZERK, 45°, 6MM

8 4659 BEARING, (205KRR2)
9 4660 SNAP RING, INTERNAL, 52MM

10 4467.D HEX SHAFT SLIP CLUTCH RH
10.1   4313 SLIP CLUTCH PROTECTION TUBE
10.2   10590084 SCREW, FLANGED BUTTON HEAD, M6 X 10
10.3   4312.A BUSHING & SPRING STOP
10.4   HM-2812 HEX, BOLT, 8 X 12 G8.8

ITEM PART NUMBER DESCRIPTION

10.5   4311 SPRING. SLIP CLUTCH
10.6   4310.2A CLAW, SLIPCLUTCH, RH
10.7   4309.2B SPROCKET, 13T, RH
11 4467.G HEX SHAFT SLIP CLUTCH LH

11.1   4313 SLIP CLUTCH PROTECTION TUBE
11.2   10590084 SCREW, FLANGED BUTTON HEAD, M6 X 10
11.3   4312.A BUSHING & SPRING STOP
11.4   HM-2812 HEX, BOLT, 8 X 12 G8.8
11.5   4311 SPRING. SLIP CLUTCH
11.6   4310.1A CLAW, SLIPCLUTCH, LH
11.7   4309.1B SPROCKET, 13T, LH
12 4655 BEARING AND FLANGE
13 4653 HUB
14 900015.1 WHEEL w/ RIM, 5.90 X 15 TIRE

14.1   G170106152 TIRE, 5.90 x 15 STANDARD
15 4654 SPINDLE, HEX
16 4716 SPACER
17 4656.A SPROCKET, HEX BORE, 13T
18 10173020 ROLL PIN, 8 X 40
19 301090 ROLL PIN, 5 X 24MM
20 4658.A ADJUSTABLE DRIVE WHEEL SHIELD
21 10561053 CARRIAGE BOLT, 8 X 18MM
22 NM-1801 NUT, HEX, 8mm, G8.8
23 1277 BOLT, HEX 14 X 30 MM
24 1277.3 LUG NUT, 14 MM
25 NM-0501 NUT, HEX, JAM, 5mm, G8.8
26 HM-61250 HEX, BOLT, 12 X 50, G10.9
27 10629013 WASHER, ET LOCK, 12mm
28 NM-31201 NUT, HEX, 12mm, G8.8
29 4319 IDLER
30 10621056 WASHER, FLAT, 13 X 30 X 6
31 4320 BOLT, CHAIN TENSIONER, 12MM
32 10621055 WASHER, FLAT, 13 X 30 X 5
33 4657.A CHAIN, 12BR/#60, 66P, W/ CL
34 9658 BUSHING, 12 ID X 18 OD X 25 L
35 10621061 WASHER, FLAT, 13 X 40 X 4

Krieckhaus Adam J
Text Box
9-1

Krieckhaus Adam J
Text Box
5 X 5 Adjustable Drive
Wheelblock



11576.2

Krieckhaus Adam J
Text Box
    NM-51605

Krieckhaus Adam J
Text Box
  NM-51605

Krieckhaus Adam J
Text Box
NM-72005

Krieckhaus Adam J
Text Box
    9-2

Krieckhaus Adam J
Text Box
11576.2



Krieckhaus Adam J
Text Box
NM-51605

Krieckhaus Adam J
Text Box
NM-51605

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
HM-81670

Krieckhaus Adam J
Text Box
HM-81670

Krieckhaus Adam J
Text Box
HM-81680

Krieckhaus Adam J
Text Box
HM-81680

Krieckhaus Adam J
Text Box
9-6

Krieckhaus Adam J
Text Box
    9-3



180039
300597
300596

Krieckhaus Adam J
Text Box
9-8

Krieckhaus Adam J
Text Box
    9-4

Krieckhaus Adam J
Text Box
180039



640420

Krieckhaus Adam J
Text Box
NM-72005

Krieckhaus Adam J
Text Box
NM-72005

Krieckhaus Adam J
Text Box
NM-21015

Krieckhaus Adam J
Text Box
NM-21015

Krieckhaus Adam J
Text Box
HM-61230

Krieckhaus Adam J
Text Box
HM-61230

Krieckhaus Adam J
Text Box
        9-9

Krieckhaus Adam J
Text Box
    9-5

Krieckhaus Adam J
Text Box
640420



10629013

640420

Krieckhaus Adam J
Text Box
NM-21015

Krieckhaus Adam J
Text Box
NM-21015

Krieckhaus Adam J
Text Box
NM-72005

Krieckhaus Adam J
Text Box
HM-61230

Krieckhaus Adam J
Text Box
HM-65110

Krieckhaus Adam J
Text Box
HM-2850

Krieckhaus Adam J
Text Box
    9-10

Krieckhaus Adam J
Text Box
    9-6

Krieckhaus Adam J
Text Box
640420



300526

4647.SS

300667
800326

T279PP-6-4,
T279PP-6-2,

4647.SS

T279PP-6-4

T279PP-6-2

Krieckhaus Adam J
Text Box
H-1075

Krieckhaus Adam J
Text Box
N-0610

Krieckhaus Adam J
Text Box
H-1075

Krieckhaus Adam J
Text Box
N-0610

Krieckhaus Adam J
Text Box
K17-P734-004

Krieckhaus Adam J
Text Box
K17-P734-004

Krieckhaus Adam J
Text Box
        9-11

Krieckhaus Adam J
Text Box
    9-7

Krieckhaus Adam J
Stamp

Krieckhaus Adam J
Arrow

Krieckhaus Adam J
Text Box
201173- Adapter to use MS seed cleanout with NG+ planter

Krieckhaus Adam J
Text Box
300667

Krieckhaus Adam J
Text Box
800326

Krieckhaus Adam J
Text Box
300526



651052

HM-2870

651072

HM-2890

100650

HM-41070

100651

NM-1801

HM-2816

NM-21011

651052

HM-2870

651072

HM-2890

100650

HM-41070

HM-2816

NM-21011

Krieckhaus Adam J
Text Box
9-12

Krieckhaus Adam J
Text Box
10176003

Krieckhaus Adam J
Text Box
900316

Krieckhaus Adam J
Text Box
    9-8

Krieckhaus Adam J
Text Box
100651



300600

Krieckhaus Adam J
Text Box
NM-0605

Krieckhaus Adam J
Text Box
              9-9



Krieckhaus Adam J
Text Box
NM-0605

Krieckhaus Adam J
Text Box
300600

Krieckhaus Adam J
Text Box
    9-10



NM-51605

300601

6346.A

6474.1

804681

804682

300600

Krieckhaus Adam J
Text Box
    9-13

Krieckhaus Adam J
Text Box
7071.1

Krieckhaus Adam J
Text Box
    9-11



NM-51605

300601
6346.A

6474.1

804681
804682

300600

Krieckhaus Adam J
Text Box
9-14

Krieckhaus Adam J
Text Box
    9-12



NM-51605

6346.A

6474.1

300600

Krieckhaus Adam J
Text Box
9-15

Krieckhaus Adam J
Text Box
7033

Krieckhaus Adam J
Text Box
7174

Krieckhaus Adam J
Text Box
300600

Krieckhaus Adam J
Text Box
    9-13

Krieckhaus Adam J
Text Box
7174



NM-51605

6346.A

6474.1

7174

300600

Krieckhaus Adam J
Text Box
9-16

Krieckhaus Adam J
Text Box
    9-14

Krieckhaus Adam J
Text Box
CBM-2830



Krieckhaus Adam J
Text Box
   9-17

Krieckhaus Adam J
Text Box
    9-15



300594

300591

300594

4694

300591

300591

Krieckhaus Adam J
Text Box
9-18

Krieckhaus Adam J
Text Box
4694

Krieckhaus Adam J
Text Box
    9-16



300594
4694

300591

HM-2816
HM-2825
HM-61225
HM-61280

300594

4694

300591

300591

HM-2825

HM-61225

HM-61280

HM-2816

Krieckhaus Adam J
Text Box
9-17

Krieckhaus Adam J
Text Box
HM-2816



300594

HM-2816
HM-2825
HM-61225
640420

4694

HM-61225

Krieckhaus Adam J
Text Box
HM-2812

Krieckhaus Adam J
Text Box
HM-61280

Krieckhaus Adam J
Text Box
9-18

Krieckhaus Adam J
Text Box
HM-2816

Krieckhaus Adam J
Text Box
HM-2815

Krieckhaus Adam J
Text Box
HM-61820

Krieckhaus Adam J
Text Box
4694

Krieckhaus Adam J
Text Box
300594

Krieckhaus Adam J
Text Box
 300594



Krieckhaus Adam J
Text Box
  9-19

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
7088.A            Hopper lid, black, w/spring clip, for hopper 9502.D

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box
7104.CO            Lid w/spring clip, for large hopper

Krieckhaus Adam J
Text Box
9502.1A          Plastic hopper only, 25 liter, offset outlet

Krieckhaus Adam J
Text Box
9502.D            Plastic hopper only, 25 liter, starting 2004

Krieckhaus Adam J
Text Box
9502.2             Plastic hopper only, large size, offset outlet

Krieckhaus Adam J
Text Box
L101                 Lock-n-Load valve only

Krieckhaus Adam J
Text Box
L101M             Lock-n-Load valve mounted on lid 7088.N

Krieckhaus Adam J
Text Box
L101MA           Lock-n-Load valve mounted on lid 7088.A

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box

Krieckhaus Adam J
Text Box



#100554

#6612

10623009

10623009

10620063

10622024

10622024

Krieckhaus Adam J
Text Box
       9-20



#6600

#6600

#6600

#6600

10623009

10620063

HM-510150

10623011

10623009

HM-510140

10623009

804681

10623009

804682

Krieckhaus Adam J
Text Box
   9-21



#10054510623009

10623009

10623009

10623009

10620063

10620063

Krieckhaus Adam J
Text Box
                  9-22

Krieckhaus Adam J
Text Box
10623009



#100546

#100549

10623009

10620063

10623009

10623009

10620063

10623009

Krieckhaus Adam J
Text Box
          9-23

Krieckhaus Adam J
Text Box
7174

Krieckhaus Adam J
Text Box
7174



300600

6346.A

Krieckhaus Adam J
Text Box
9-24

Krieckhaus Adam J
Text Box
6346.A

Krieckhaus Adam J
Text Box
300600



Krieckhaus Adam J
Text Box
9-25



100504





300605



300605


	Sheet1
	Drawing View2

	Sheet1
	Drawing View2

	Sheet1
	Drawing View2

	Sheet1
	Drawing View2

	Sheet1
	Drawing View1
	Drawing View2

	Sheet2



